Ratio & Proportion Sample Test Questions
Q1. (a)
€80 is divided between two pupils in the ratio 7 : 3.



How much does each pupil get?

(b) (i) €572 is divided in the ratio 2 : 3 : 6. Find the smallest share.

(ii) The cost of 12 jumpers is €144. Find the cost of 7 jumpers.

(c) (i) Express 
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as a ratio in whole numbers.

(ii) A prize fund of €38,000 was divided between A, B and C. It was divided in the ratio 
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. Find how much each person receives.
Q2. (a) It takes 4 men 6 hours to paint a room. How long does it take 8 men to paint the same room.

(b) 
A train left Tralee at 09.05 and arrived in Dublin at 12.50. 

The distance from Tralee to Dublin is 315 km. 

(i) Find the average speed of the train for the journey.

(ii) On the return leg of the journey, the train is delayed by 15 minutes but still takes the same time to get back to Tralee. Find the speed of the train on the return leg of the journey.

(c) If €1 = US $1.14,

(i) How many euro would I get for US $1700?

(ii) How many dollars would I get for €2500?
Do the following questions if finished early.

1. 
(i) On a visit to Ireland a US tourist changed $2700 to euro when the exchange rate was €1 = $1.10 US Dollars. 
(ii) How many euro did she receive if the bank charged 
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commission?
2. Given that €1 = $1.10 = Y140 = F1.50 [Y = Japanese Yen and F = Swiss Francs]

(i) 
How many US$ would you get for €1200?

(ii) 
How many Yen would you get for €2400?

(iii) How many Euro would you get for F4500?

(iv) How many Euro would you get for US$1350?

(v) How many US dollars would you get for Y36000?

(vi) How many Yen would you get for F7500?
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